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Note: 1) All Questions are compulsory..
2) Figure to the right indicates'ifﬁt,limark

1. A Choose the correct alternatives (any eight)

(i) Liberalisation is based on | _ideas.
(Capitalist, Socialist, Communist)

(i)  Economic liberalisation was adopted by Prlme Mmlster s
(Mr. Manmohan Singh, Mr Rapv Gandhl Mr Narasnnha Rao)

(iii)  Article of the Constltutlon abohshed the practlce of untouchablhty
(15, 16, 17) | . D

(iv)  The objective of Right to Freedom of Reli giot;,;g to-sustain the principle of ,

(Communahsm Reglonahsm Secularlsm)

v) factor is formed ofall hvmg : S
(BlOth AblOth Robotlc) : :

(vi) D dnrectly feed on producers
(Herblvores 0mmvores:~ R SR

(vii) R anses when go} '_ dlrected behawour is blocked or thwarted.
'Q(Frustratlon Stress Conﬂlct) F

(viii) - Eustress is also known as
ey _‘-_(Posmve, Negatwe Neutral)

means formmg close assocxatlons with trusted friends and co-workers.
& (Networkm g, Relaxatlon Soclal support)

) Wm-Wm is the outcome of strategy.
A (Collaboratmg, Compromlsmg, Smoothing)

’ 1 B State whether the statement is True or False (07)

27 (i);:r ,,\-‘:Theprocess of movmg fora perxod of time in response of labour or climate
s ":eondltlons is called asseasonal migration.
(i)~ -In India, the concept of privatisation gained importance in the post reform period
" since 1991.
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Magna Carta was signed in 1215. <

Article 14 of Indian Constitution provides for Equality before Law

Overuse of the renewable resources for short gain may shorten a country s long
term economic future. : g '
Degradation occurs when carth’s natural resources. are depleted

(vii)  Stress aggravates diabetes.
(viii) . Intergroup conflict occurs within an individual.
(ix)  Addressors do not possess risk taking attitude. . ‘,' o _
(x)  Concealers don’t believe in taking risks. = s G AT s
2. What is liberalisation? What are the bene_ﬁ,tséand‘linﬁlit’ations of lilgeraljsétjon‘?;\ (15) :

Explain the concept of globalrsat10n‘7 Examme the 1mpact of globahsatlon onf &

OR

employment.
3. Define Human Rights. What are the characteristics of buman tights2 < (19)

I#ﬁﬁg{ ;‘ffﬁh

Briefly explain F undérnental Rights asenshrmed ifi In _,gén'fconstitntion.

4. What is enviro_nmental degradation? Wha re;itS'eaue'e'é?- (15)
L ORE, NS EE
Discuss the_in)poqange, of ethics in an 1nd1v1dual’s deyelopment.
5. _Explain various strategies for coping with conflict. (15)

ii’iff,Wrrte short note on (any three)

oy “(a):
S L) s

e ‘(C)i

< @)

v (e) -

3 ;Causes of mrgratron

Magna Carta

*Need for: sustamable development
Causes of stress-

: Types of mdlvrdual conflicts

sk ok ok ok ok ok ok ok ok ok k
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